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_ALFA 3.000 | 3.000 : 5.600 0 | 525 250 005 | 16.800] 4 | 4.200 3200 | 5800 | 5350 ' 000 16650 1 | 35460] 1
| Swaro.RG -~ 4000 | 3.000 | 5:800 | 4.950  0.00 | 17.750] 2 | 3.600  3.200 |_§ 500 | 4.400 | 0.00 16700 2 | 34450] 2 |
| REATMFOKBHRYST | Pa=F | 3.600 | 2400 | 5.900 1 5.800 | 0.00 | 17.700{ 3 | 3.300 | 2.100 | 5750 | 5100 | 0.00 | | 162501 3 | 33.9500 3 |

Swaro.RG $2=7 | 8100 | 2800 | 5550  4.500 | 0.00 | 16.750 7 | 3.600 | 2.500 | 5.450 | 4.400 | 0.00 | 15950 4 | 31.700] 4

SwaroRG Sa-7 | 2800 2700 | 5.450 | 5.050  0.00 | 16.000! 5 | 2.800 | 2900 5180 | 4300 | 0.00 152501 6 | 31.280] 5_
KEFTEHOKBHESTT | Ua=7 | 3500 | | 2.600 [ 6300 | 5700 ; 0.00 | 18.100] 1 | 2.600 '2.000 , 5500 | 3.300 | 0.60 | 12.800' 13 730.900] 6

T BLOOM $2=7 | 3000 2300 5400 | 5150 | 0.05 | 15.800° 6 | 2.900 | 2.300  4.800  4.060 | 000 | 14.050° 11 | 28.850] 7

Swaro.RG j-::n-tr' 2700 | 2.600 | 5.150 { 4700 0.00 | 15.150! 8 | 2,500 | 2700 | 5.300 | 3650 | 0.00 | 14.150: 9 | 20.300] 8

Swaro.RG [$az7 | 2900 | 2.400 4950 | 3.400 | 0.00 | 13850} 11 | 3.100 | 2.600  4.650 | 4.400 | 0.00 | 14.750; 7 | 28400 9

B BLOOM | Ua=7 | 2600 | 2,100 | 5460 ; 4650 000 | 14800} 9 | 2.900 | 1.800 14,600 ( 3700 | 0.00 | 13.000] 12 | 27.600] 10

C . BLOOM _|¥a=y | 2300 | 2300 ; 4900 ! 4150 0.00 | 13850 13 | 3500 2100 | 4600 ' 3.950  0.00 | 14.150/ 10 | 27.800] 1G_
KERTEEOKBHEBS5T | a7 | 3300 | 2200 | 4850 [ 4300 000 | 14.750] 10 | 2,500 | 2.200 | 4800 ; 3.750 1"080 | 12.450] 14 | 27.200] 12

Swaro.RG Ta=7 | 1400 [ 2100 | 4900 | 3.900 0.00 | 12300} 16 | 2700 2400 | 5000 | 4.200 | 0.00  14.300] 8 | 26.600| 13

~ SwamRG_ Pa=7 | 2400 | 2.200 | 4450 {4600 000 | 13,6501 11 | 2.000 | 1.600 | 4400 | 3.350 | 0.00 | 11350} 19 | 25.000 14

> | T ChemyRG | $a=7 | 1300  1.200 | 4.300 i 2450 080 | 9.250 37 | 3700 | 2.400 | 5.050 | 4400 | .00 ["i5550. 5 | 2a.800| 15 |

% | ChemyRG a=7 | 1600 | 2500 4800 1 4.100 |_0.00 | 13.300] 14 | 1.900 | 1.400  4.600 | 3.200 | 6,00 il “11.100] 20 | 24400 16
ALFA __ [2a=7 | 1600 | |2 ;.000 | 4.700 + 4,100 |_0.00 | 12400{ 15 | 2700 | 1.100 | 4600 1 3.650 | 0.30 | 11.750 16 | 24.150] 17 |

~_ChemyRG _|¥a=7 | 2100 2100 [ 4400 | 3.300 | 0.00 | 11.500] 18 | 2100 | 1.300 | 4,800 3400 . 0.00 i11£00l 17 | 23500 18
KEHTBIFOKBHESTT | Sa=7 "2.200 | 1.200 ‘4250 £3150 | 0.00 | 10.800! 22 | 2.500 | 1.600 | 4,500 ' 3.600 | 0.00 | 12.200] 15 | 23.000] 19 |

ALFA ($a=7 | 1600 | 1100 | 4300 { 3700 | 0.0 | 10.700} 25 | 2400 | 1.600 | 4450 ° 3.450 | 0.00 | 11.600] 18 | 22.300] 20

T ChemyRG__ | va=7 | 20002100 | 4300 | 3100 0.00 | 11.500{ 19 | 1.200 1.600 | 4.300 | 3500 | 0.00 | f0.800] 22 | 22.300] 20

Swaro.RG £a=F | 1.600 32_00__ "4.350 | 4100 | 0.00 |12 250) 17 | 1.500 1 1.900 | 4.200 | 2060 | 000 | 08.650| 27 | 21.800] 22
CheryRG___ |va=7 | 0.800 1500 | 4.350 3600 | 0.00 | 103501 28 | 2100 | 1300 | 4350 | 3.300 000 | 11.050 21 | 21400 23 |
ALFA a=7 | 1600 0800 | 4450 | 3.600 | 000 10.450] 26 | 1760 1.100 | 4300 | 5700 | 000 | 10.800] 23| 21.250 24 |

~ ALFA 1,800 1.200 | 4,350 | 400 | 0.00 [ 10.750| 24 | 1,600 0.700 | 4.150 | 3450_ 000  ©.900] 25 | 20.650] 25
ALFA 1200 0,800 4350 3350 | 0.00 . 9.700 35 | 0.800 1.600 | 4650 | 3500 0.00 10560 24 | 20350] 26 |
["xE®®R |  ChemyRG 1,300 . 1.4D0 | 4.250 | 3.850 | 0.00 ; 10.800| 22 | 0,900 | 1.300 | 4.250 | ) 2850 | 005 | 0250 30 | 20.050 27 |
EELEN ALFA 1500 ¢ 1.600 [ 4150 | 3150 | 0.00 ! 10.400, 27 | 0.200 | 0.800 | 4300 3500 | 0.00 | 9508/ 29 | 19.900 26 |
| E#Nift® ©  ChemyRG | 1300 1 2.100 | 4.450 | 3.050 | 0.00 : 10900/ 31 | 0.900 | 0.700 | 4500 | 2.850 | 0.00_ 8.950) 33 10.850| 29 |
[ EmEt BLOOM __ 1.300 1600 | 4300 | 2800 | 000 ! 9.00| 33 | 1.400 | 2.400 | 4.050 | 2250 | 000" 0800 26 | 19.700. 30 |
L AR BLOOM | 1600 [ 1.800 | 3.950 | 2.800 | 0.00 | 10.260) 29 1200 | 1.000 | 4.000 | 2.850 | 0.00 | 9.050] 31 | _19.300} 31
| WE B Swaro.RG _ 0.900 | 2.000 | 4.050 | 3.300 | 0,00 | 10250 30 | 1,500 | 1060 | 3:600 | 2350 | 0.00 | 9.050| 32 |"15.300j 31 |
| Wmt%®E  swaoRG 0.600 | 1.400 | 4.350 | 3000 | 000 | 9.360| 36 | 0,500 | 1.900 | 4.100 | 2700 | 000 | 9.600) 28 | 18.950° 33 |
_ BERS BLOOM 2400 | 1500 | 4.200 | 3350 | 0.00 | 11.150] 20 | 0.900 | 1suu | 3600 | 1.700 | 0.00  7.700] 37 |_18.850; 34 l
| REER __BLOOM [Pa=7 | 1100 [ 2.100 | 4.400 | 2450 | 0.05 ' 10.000] 32 | 1400 1.100 | 4.050 | 1.800 | 0.00 = B.350 35 18.3501 35.
MUK KEATMAOKBERSST | a7 | 1400 | 0900 4,000 | 3500 | 000 | 9600 34 "6.800 | 0.700 Lksoo__ 2900 | 0.00 | 8.300] 36 | 18.100 36 |
| MRCTH ALFA Ua=7 | 1400 1100 | 3560 | 300 | 0.00 | 8150 38 | 1.100 | 0.800 3850 | 2. 177003_3_7_J
| EEBE AERUMAOKEHAFSJ |Pa=7 | 1900 0.800 | 4.100 | 3.400 000 | 10200 31 0.800 | 0.700 | 5850 | 00" 38 | 17.600! 38
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$a=F 100 | 320 4.650 | 3.460 A 0.000 1230,1 |

DazF 240 280 4.450 | 3500 : 0.800 195 | 2 | \_;/—5\ V’ﬁ 5__
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ESSERBUA—THREEFHERS KERFER

20255 7A198 B AEZ L 2—ShBF—L

Y5 o—7 BeE
i ES X5 D A E A &R |IEs DB DA A E A B R |ER BAa JEGE
HiFS Ak KIEH T ERITOKBIKIZSST | oa=7F 3.600 8.400 7.400 0.00 19.400| 1 4.000 7.800 7.000 0.00 18.800| 1 38.200| 1
B = KIEHIEFITOKBEERITT | a7 2.200 6.000 6.000 0.05 14.150| 2 2.400 5.500 4.400 0.00 12.300| 2 26.450| 2
HFH EFH KIEH T ERITOKBHIRESST | a7 1.700 6.600 5.400 0.00 13.700| 3 2.400 5.700 3.400 0.00 11.500| 4 25.200| 3
B EE KIEHIIRITOKBHZRI ST | a7 1.800 5.900 4.800 0.00 12.500| 4 2.500 6.000 4.200 0.40 12.300| 3 24.800| 4
A BA KIEH T IRFTOKBERSST | Saz7 1.500 5.600 3.500 0.00 10.600| 5 2.400 5.100 2.100 0.00 9.600| 5 20.200| 5
Ea E 45 D A E pEAS /AR | IEX
KIEH T IRITOKBIAIRESST Saz=7 | 1.900 5.600 4.700 0.000 12.200 | 1
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